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If 3292 5239 is coming to reject the view of Rabbi Simoee

OVERVIEW

The X3 quotes a Xn*72 which cites a dispute between *X1°0 " and 22w "
regarding the view of ¥"7 (who maintains that the offspring from a union of 217
TIRY is a 7). 0" maintains that by all X% 2n the child is a 21 (except by an
3"779% manoR [where the child is a 9%11]). °"1 disagrees and maintains that the view of
¥"7 1s that any offspring of a forbidden union is a 777, The X723 is unsure what is
the position of *"7; is he merely rejecting the view of *X»°0 ', and maintaining that
the child is a 2mn even by an 3"770% 719X (since it is a PIX? 21 [but there is no
O from AWy °27m]), or is °"7 making a statement on his own that by any
forbidden union even if it is only a Awy 21 (like M1 °7xn), the child is
nevertheless a 71n. Our MdOIN explains why this uncertainty cannot be resolved
from a X713 elsewhere.

mooIn asks:

= 99RP NYYWNT XNPYL 22V %297 VIVIIN NN
It is astounding! Let us resolve that >''9 is making his own statement and is not
merely arguing with 0"1 regarding an 3"770% 7In%X, but rather he maintains that even by nwy >2»n
the child is a 7tn. We can resolve this -

- (ow .0 91 DNAT NNP P99 MINT INDT NN

According to the one who maintains in the first 92 of n122s n>on -
- AYYa 'HNaY Yy OINNRN 13 NN N2 9N 1NN DY NaAN

One (of the brothers) was »»12 his 723, and afterwards one of the other
brothers was %212 her rival (the other n2°), the second brother transgressed an

Ty -
- 2nbrya 9NN NI PRT VI INIIMI 139 (v, 97 0% INIIMI 129 P93 191 KDY

" The case there is if for instance there were three brothers, NYAY L3211 and M, where 12181 had two wives 11 and
XD, 121 died childless and 1w was 7n7 027n (as the law requires). Afterwards M2 was X7 2912 (the 79 of HrM).
There is a dispute between RXnX 21 and X127 what "7 transgressed. One maintains that he transgressed an N3 Mo°X
(she is an m¥n 0P ®HW X NWR), and the other maintains that it is an 7wy MoK (based on the 109 of N°2 712 XY WX
PR teaching us that 2°n2 '2 712 PRI A2 RIT IAR D02 [see "wA there nwya 7"7 and X,72 Nn2°]). Moo claims that
according to the 7"» that it is an WY we can prove that aKXp 7'WdIT XYL 22w M.

2 This means if one of the brothers was 01”7 the 1n2°, then if either he or another brother had 1X°2 with the 71%; the
second 781 is ineffective (the 7% is not considered as having a marital connection to the 9¥13), and therefore he is
not forbidden to marry any relative of the 77%. There was no 7"W"7p by the second X2, therefore the 77X is
considered as a ‘stranger’ to him and he may marry her relatives.
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For we learnt in a mw» in 3" P99; 2" rules there is no %2 after 7%°3; in
order to explain this ruling 3.
- NP NOWOIT NAYD 221 %39 TN Yy

Perforce you must say that 92KRp 7ows17T R2PW 22 ' that PYITP are not 09N even
by 7wy *2n -

= 0995 NHIYA NN PN 19NY NYY 299N PONIN PYITIP 1PNT 2aY? 2295 BNN MM
And therefore the ruling there by 3"7 will be understood, because it is according
to °'"1 that 7wy 5312 1PO2IN PRITP TR, and therefore nothing is accomplished

after the first 77993, since there is an 7wy Mok and the second brother is permitted to the
relatives of the 7% —

mooIn proves his reasoning (that we require an 719°X where 1°091n PYNTR PX):
= 0I5 NYYHN NN PNRT PHINNN NN ‘onn 9879

As the X923 comments there on the mw» which states, ‘there is nothing after

5739917’ meaning that any action (such as nX» ,7%"2 or 7%°>1) which is done after a proper 7¥on,

is ineffective and it does not prohibit him from marrying her relatives.” Regarding this ruling -
- PING 229502 POOIN PYITH PRT TINT XAYDY 29 99247 11 29 9N *NX3rD 29 0N

X117 29 said in the name of 29, ‘this is the view of ¥''9 who maintains that °N
TIIRY 29772 P00 PR —

mooIN rejects an anticipated answer:®

= IND N INRP NYVWANT NIYL IN I%D RPADN NNYY 1199 NIIIN NON NHNDN)
And presumably the doubt of the X 13 here as to the position of 22w '3, whether

® The question is according to the 7"n that 07X ¥ PPRRT 1 AR X2 WM NP 7Y X273 (the case of A"), the second
brother (merely) transgressed an 7wy, why therefore was the aX*2 *17°p not effective for the 77%. We generally
assume that 7Y 7P are AWy 212 091N (even according to ¥"). The X2 *w17°p of the second brother to the 77X
should be effective and he should be 7°n1217P2 70K,

4901

> See footnote # 2.

% In our text it reads 77 27 0K,

" The o5 (in v,7> [R¥n] 0»27) states 1PN N2 NX 7312° X2 WK, this is expounded to teach us that 7132 X7w 1°3 (once he
did not build, by giving 7%°51) 732° X2 21w (he may not build after 7%°m). There is therefore a W% 21’1 (of 712> XY) to
marry a nn2 after 7%°n. According to ¥"9 that PIR? °2°°12 109N PWITR PR, it is understood that any act of marriage
after m¥°on is ineffective, therefore they are permitted to marry the relatives of their brother’s 7¥151 even if they gave
her a 1Rn, etc. We derive from this X3 that the second action (after the initial 7¥°517) is meaningless provided it is a
case where 772 1°091n PYYTP 1R (for we establish this rule of 2193 7%°%1 9NR PR according to Y"1 who maintains 1°X
TIRD 212 109N PWITP), similarly here too the prohibition of the 7wy must be one that it does not allow the PP
to be 091n. The only one who maintains that is 22w " if Kp W17 XKNYY

¥ Seemingly we can say that the uncertainty of the X»3 in regards to the position of 22w "1 was only according to the
7"7 that it is an n12 MOX, but not according to the 7"» that it is an 7wy MoK (see footnote # 1). This would resolve
Mmoo question.
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. . . . 9 .
he said this 7>wp17 XYWL or not, is according to everyone, even according the 7"»
that it is an 7wy Mo X. However, as m»do1n had just proven, according to this 7"» we must say that
VARP WHIT XYL 22w M.

In summation; Md0IN question is that according to the 7"n that DNXT 1 TAR K2 T 1NN DY KIA7
TwYa 7nOX Y, we must say that the ruling of 71%°¥2 1R 77°v2 1K can only be justified if it follows
the ruling of 22w " provided that nRp 7°wo17 RXnyw. Therefore the doubt regarding 22w " is
resolved.

N1B0IN answers:
- 953 9N TN (x4 NN KNP HID 1>0NT BN 192399 AN 7Y

Therefore it is the view of the n'= that the text in the first »92 of ny»as noon

reads; ‘one maintains it is a YX® (but not an 7w¥), and the other maintains it is n73".
= DYy 1909) NY41 HNT\)’)D\’J NN O 139 NN N NH)

And the n''1 proves in that X922 that the text does not read m2y2, even without

resorting to the difficulty mentioned here if we are 03 there Awya.
- HINRY XNV INY 135977 ININ 13939 w9 4

And similarly the n''= also explained that it is the same X% which applies to

where he preformed 729517 to one of the m»n2>, where he is prohibited from performing
012 afterwards (either on the 7¥Y71 or her 77%) -
= HHNN NI XD 2IVW NI XDY 1995 1329 XY TUN NP 99N7

For the oo states, ‘who did not build’, meaning; since he did not build this
7n2 (for he gave her nx°on), he cannot build the other m»2> through “mxn or nxea,
similarly -

19NN 21335 XY NP2 DIV NIAY 1199 3193 NI
Here too by 012°, since he built any one 72 (and did not build her 77X,
therefore), no other brother (or himself) can build another n»2.

SUMMARY
No one maintains that 707X Y 2°0X7 M AR N2 M N2 Y X377 that he

? Otherwise, the X3 should have said (after 121 °X 22w '\ Xr°37) that 9219 X2°K 77 7wy 7'n5 ®9X. See “Thinking it
over’
' We can therefore say that the ruling of 3" (that 72°¥2 9nX 79°¥a 1K) is according to ¥" [following even the view
of *RX°0 "] that PIR? 212 PODIN PYITP TR, but there is no indication as to the view of 22w '3 regarding nwy >2»n.
' See there 711 7"7 'oWn that the proper KO3 is W92 1K 7M.
12 mpoin will now explain what is the W7 if one is in7X ¥ 1K 12 'K K2 WM 772°7 DY KA.
1 Just as by n¥°%n where the p105 states that since he was not 7112 the 7¥1971, he (or his brothers) cannot be 7112 her or
her 77¥, similarly if he was 02*» one 7727, we also say since he was not ;1112 the 717X, no one can be 112 her in the
future.
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transgressed an Wy (for then we could have proven that 22w " said w17 "nyw),
but rather one 7" maintains that it is a W% (of 712’ ®?) [and the other 7"» maintains
that it 1s an n12 MOX].

THINKING IT OVER

Moo maintains that presumably the doubt regarding to view of 22w " is
according to everyone (even the one who maintains w3 an7x v "o xan).'?
However we find that in the following ndoIn that it is no problem that we will
assume that the 1712 XX is not according to all (it is not according to n"9)."> Why
here does MpoIN assume that it is according to everyone?'°

' See footnote # 9.
15 See TIE there footnote # 5.
1 See [x7] X" and & MK 7"910.
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